Alba Tuzeléstechnika Kft SUNTEC

Range AL with SﬂLE]"vlﬂ%Ela E'AL'H'E

UNTEC AL oil pump incorporates a blecking solenoid vabee with irdine cut-off furction. Blesding in tvo-pipe operation is aulo-
matic. In one-pipe operation, the plug of a pressure gauge port must be loosened unti the air is svacuated from the system.,
Delivered it connecior

Flow I'hio | M=Hub

— 2800 tr/mn| B Fstures | Rotation |TUTEENSHE) progoy | pgt
L —
AL 30 ¢ 9537 4P 0500 a0 [ETE - - 815 | 301948
AL 35 A 0526 2P 0500 40 TETE — — &/15 | 301949
AL 35 A 0570 2P 0500 a0 M 52 5 6 : — = B/1c | 301958
AL 35 A 0598 2P 0100 a TEET ] = = 815 | 301936
“BL 35K G505 2P 0500 [ M3Zxd - — — [T 301869
AL 35 B 9520 2P 0200 40 M 5258 3] — - 2 | 301937
AL 35 BO520 2P 0300 40 M2 x 8 3] — - Z'2 | 301945
“AL 35 B 9520 2P 0500 40 M2 x 8 2 — - Z | 301872
AL 35 B 9580 2P 0500 a0 M 52 5 8 : — = &/1E | 301956
AL 35 ¢ 9521 2P 0100 40 M 52 5 6 ] = - 418 | 301938
“AL ¥ or a0 M xa . — — & 18 301873
AL 35 ¢ 9528 2P 0500 a0 M52 x : - = &1 | 301957
AL 35 ¢ 9540 2P 0500 40 M2 x8 [E1] = = 8715 | 301950
AL 35 C 052 2P 25RA 40 M2 x 8 111} = = 8715 | 301954
H éq EFE] 51 = = B wa 301
EFE] - = = B wa 201087
AL 35 D 9520 2P (200 40 M2 x 8 T4} = — 8715 | 301959
AL 35 D 9529 2P 0500 40 M 52 5 8 : - — &/1F | 301939
AL 35 9505 2P i TEET 1] = - B71E | me301038
AL 55 B 9531 2P 0500 i BT : — = 418 | 301875
AL 55 ¢ OE0H 2P i ok [EATE] - = T77E | wa 201985
AL 5 B 9532 2P 0500 a2 M 525 8 E = - 418 | 301877
AL £5 B 9581 2P (100 a2 M2 x8 ] — = 12/25 | 301944
AL 5 B 9581 2P 0500 7] M2 x8 - = - 12/25 | 301878
AL 5 C 9410 2P 0500 B2* BEax b : - = 418 | 301879
AL 5 ¢ 9525 2P 0500 H M 52 5 6 ] = - B/15 | 301980
AL 5 C 9588 2P 0500 B M 5258 2 - - 8715 | 301981
AL 5 C 9589 2P 0500 a7 1T - = B/1c | 301982
AL TS 110 [ FE] — - a1k 301880
AL 75 C 9411 2P 0500 10* BEax b 2 = - 418 | 301881
AL 75 C 9534 2P 0500 110 MEud | (5160 = = B/1E | 301983
AL 95 ¢ 9412 2P 0500 132° BEax & : - = 10720 | 301984
AL 95 ¢ 9414 2P 0500 132° BEax b 1] - - 10720 | 301882

(1] Inlet and Retwrn. 178" - [2) long outlet noezle - (3) Trpe ane-pips - (4) Coil 20080
(5] Conical nipple @4 - (6] Kemsene - (T) Coil 110VAC - [8) Coil 20D} - (9] Ail.sthg screw pressune on the noale sida,
{1@) Shaft with 2 flat surfaces - (11) Cail with cable power. * With autlet &r jack.

www.albaservicekft.eu



